
cf=j=)&).&! sf] oyfy{ cfDbfgL vr{sf] ljj/0f 

s_ cfDbfgL ljj/0f 

zLif{s 

g+= 
cfDbfgLsf zLif{sx? 

cf=j= 70.71 sf]  

k"j{ cg'dfg ;+zf]lwt cg'dfg oyfy{ 

1=1 :yfgLo s/       

1=1=1 #/ jxfn s/ 200,000.00 382,500.00 382,254.84 

1=1=2 jxfn lj^f}/L 230,000.00 290,000.00 289,450.00 

1=1=3 Joj;fo s/ 1,150,000.00 1,531,000.00 1,530,642.00 

1=1=4 ;jf/L btf{ tyf s/ 180,000.00 356,500.00 356,190.51 

1=1=5 Plss[t ;DklQ s/ 4,500,000.00 5,427,000.00 5,426,788.00 

1=1=6 dgf]/~hg s/ 150,000.00 128,500.00 128,356.90 

1=1=7 lj!fkg s/ 60,000.00 60,000.00 59,850.00 

  hDdf 6,470,000.00 8,175,500.00 8,173,532.25 

1=2 ;]jf z"Ns       

1=2=1 ;jf/L kfls{é       

1=2=2 ;/;kmfO{ 405,000.00 591,500.00 591,275.00 

1=2=3 #/ Ans gDa/ Kn]^       

1=2=4 zf}rfno 48,000.00 60,000.00 60,000.00 

1=2=5 hUuf Knl^é 300,000.00 422,500.00 422,375.00 

1=2=6 ;DklQ d'Nof+sg 160,000.00 334,500.00 334,380.00 

1=2=7 ;*s aQL       

  hDdf 913,000.00 1,408,500.00 1,408,030.00 

1=3 b:t"/       

1=3=1 btf{ tyf gjLs/)f 90,000.00 122,000.00 121,732.45 

1=3=2 #/ gSzfkf; 3,500,000.00 3,332,500.00 3,332,312.24 

1=3=3 l;kmfl/; 1,200,000.00 1,616,500.00 1,616,409.35 

1=3=4 gftf k|dfl)ft 30,000.00 24,000.00 23,405.00 

1=3=5 ldnfkq       

1=3=6 ljljw kmf/fd 400,000.00 634,500.00 634,182.17 

  hDdf 5,220,000.00 5,729,500.00 5,728,041.21 

1=4 laqmL       

1=4=1 lnnfd laqmL 5,000.00 72,500.00 72,005.00 

1=5 ;|f]t kl/rfng       

1=5=1 #/ ef*f 6,000,000.00 7,183,500.00 7,183,278.61 

1=5=2 d]lzg/L pks/)f ef*f 150,000.00 139,000.00 138,400.00 

1=5=3 ;fem]bf/L ljsf; sf]ifsf] Jofh -MDF_       

1=5=4 lu^L, jfn'jf tyf :n]^ ('+uf 2,900,000.00 2,879,000.00 2,878,610.83 

  hDdf 9,050,000.00 10,201,500.00 10,200,289.44 

1=6 ;f+jf Jofh nfef+z / jf]g;       

1=7 cGo cfo        

1=7=1 b)* hl/jfgf 125,000.00 94,500.00 94,165.26 

1=7=2 w/f}^L hkmt jf lkmtf{ 20,000.00     

1=7=3 ;fk^L tyf k]ZsL km%\of}{^ 50,000.00     

1=7=4 cGo ljljw cfo 150,000.00 57,000.00 56,293.59 

1=7=5 k/LIff  1,000.00 1,000.00   



  hDdf 346,000.00 152,500.00 150,458.85 

  s'n cfGtl/s >f]tsf] cfo 22,004,000.00 25,740,000.00 25,732,356.75 

2=1 g]kfn ;/sf/ k"¤hLut ;zt{ cg'bfg       

2=1=1 
:yfgLo ljsf; z"Ns sf]if 

3658173÷26322 6,778,000.00 6,778,000.00 6,778,000.00 

2=1=2 
:yf=oftfoft k"jf{wf/ If]=sfo{qmd 

3658083÷26312 2,500,000.00 2,500,000.00 2,500,000.00 

2=1=3 
ljsf; -Pn=lh=l;=l*=lk=_ 

3658033÷26321       

2=1=4 ;*s af]*{ g]kfn 2,700,000.00 1,901,500.00 1,901,237.00 

  hDdf 11,978,000.00 11,179,500.00 11,179,237.00 

2=2 g]kfn ;/sf/ k"¤hLut lgzt{ cg'bfg       

2=2=1 ljsf; cg'bfg 3658033÷26321 14,600,000.00 14,600,000.00 14,600,000.00 

2=3 g]kfn ;/sf/ k|zf;g cg'bfg       

2=3=1 
k|zf;g cg'bfg 3658033÷26311 -

lgzt{_       

2=3=2 
Pn=lh=l;=l*=lk= 3658193÷26312 -

;zt{_ 1,030,000.00 1,630,000.00 1,630,000.00 

2=3=3 Pn=lh=l;=l*=lk= :jo+;]js lgjf{x eQf       

2=3=4 
:yfgLo ljsf; z'Ns sf]if 

3658173÷26311 4,682,000.00 4,682,000.00 4,682,000.00 

  hDdf 5,712,000.00 6,312,000.00 6,312,000.00 

2=4 hu]*f sf]if 12,740,000.00 19,878,000.00 19,878,000.00 

2=5 lh=lj=;= tgx'¤       

2=5=1 k'+lhut cg'bfg 100,000.00 6,000.00 6,000.00 

2=5=2 
/fhZj af+*kmf+*af^ k|fKt -/lhi^«]zg 

z'Ns_ 4,500,000.00 4,876,000.00 4,875,644.00 

2=5=3 ;fdflhs ;'/Iff cg'bfg 12,100,000.00 11,926,000.00 11,925,600.00 

2=5=4 lh=lj=;= / uf=lj=;= Doflré -;fem]bf/L       

  hDdf 16,700,000.00 16,808,000.00 16,807,244.00 

2=6 a}b]lzs ;xfotf       

2=7 cGo cg'bfg       

2=7=1 gu/ ljsf; sf]if        

2=7=2 ;fIf/tf cleofg sfo{qmd       

2=7=3 dd{t ;Def/ sf]if 350,000.00     

2=7=4 cGo ;+:yf -:jf:Yorf}sL, vfg]kfgL tna_ 1,705,000.00 1,726,000.00 1,725,733.00 

  hDdf 2,055,000.00 1,726,000.00 1,725,733.00 

2=8 C)f ;xof]u       

2=9 nfut ;xeflutf -(n, lkr / cGo_ 5,940,000.00 6,902,450.00 6,876,312.00 

  s'n afx\o >f]tsf] cfo 69,725,000.00 77,405,950.00 77,378,526.00 

2=10 zx/L ljsf; sf]if -MDF_ d'n wg       

2=11 ut jif{sf] lhDd]jf/L       

2=11=1 a}+s df}Hbft 6,992,797.69 6,992,797.69 6,992,797.69 

2=11=2 txljn df}Hbft 87,253.91 87,253.91 87,253.91 

  hDdf 7,080,051.60 7,080,051.60 7,080,051.60 

  s'n cfo 98,809,051.60 110,226,001.60 110,190,934.35 

 



v_ k|zf;lgs vr{ ljj/0f 

l;=g+= ;+s]t g+= vr{sf zLif{sx? 
cf=j=2070.071 sf] cg'dfg 

k"j{ cg'dfg ;+zf]lwt cg'dfg oyfy{ 

1 2=1 tna -kfl/>lds_       

  2=1=1 -s_ sd{rf/L -g=kf=, lgcdp ;d]t_ 15,100,000.00 15,100,000.00 14,870,686.40 

  

  -v_ ;+lrt labf, cf}iflw pkrf/ 

tyf cGo 500,000.00 120,000.00 118,538.00 

  2=1=2 hgk|ltlgwL kfl/>lds 150,000.00 150,000.00   

    hDdf 15,750,000.00 15,370,000.00 14,989,224.40 

2 2=2 sd{rf/L eQf 1,100,000.00 984,000.00 982,023.68 

  2=2=2 a}&s eQf       

  2=2=2=1 ljleGg ;ldlt a}&s  200,000.00 200,000.00 183,000.00 

  

2=2=2=2 of]hgf cg"udg, kl/jxg tyf 

;+rf/ 200,000.00 200,000.00 187,500.00 

    hDdf 400,000.00 400,000.00 370,500.00 

  2=2=3 n"uf eQf -kf]zfs_ 465,000.00 465,000.00 384,985.00 

3 2=3 e|d)f vr{ tyf b}lgs eQf       

  2=3=1 kbflwsf/L 100,000.00 100,000.00 29,320.00 

  2=3=2 sd{rf/L  500,000.00 500,000.00 474,200.00 

    hDdf 600,000.00 600,000.00 503,520.00 

4 2=4 ;]jf tyf sfof{no ;+rfng       

  2=4=1 sfof{no ;]jf vr{       

  2=4=1=1 wf/f÷ljB"t 250,000.00 250,000.00 154,467.32 

  2=4=1=2 ^]lnkmf]g ^«+sn 350,000.00 350,000.00 294,334.25 

  2=4=1=3 ;]jf cGo 350,000.00 488,000.00 487,548.55 

  2=4=2 sfof{no ;+rfng vr{       

  2=4=2=1 :^]zg/L ;fdfg 500,000.00 200,000.00 193,314.00 

  2=4=2=2 %kfO{ 500,000.00 500,000.00 438,540.00 

    hDdf 1,950,000.00 1,788,000.00 1,568,204.12 

5 2=5 ef*f 300,000.00 300,000.00 253,815.00 

6 2=6 dd{t ;Def/       

  2=6=1 ;jf/L ;fwg 150,000.00 150,000.00 115,118.00 

  2=6=2 k|zf;g cGo 200,000.00 200,000.00 172,246.00 

    hDdf 350,000.00 350,000.00 287,364.00 

7 2=8 kq klqsf tyf k":ts 70,000.00 70,000.00 46,300.00 

8 2=9 OGwg       

  2=9=1 k|zf;g 550,000.00 550,000.00 510,006.00 

  2=9=2 ljljw 100,000.00 100,000.00 98,676.00 

    hDdf 650,000.00 650,000.00 608,682.00 

9 2=10 ljljw tyf e}k/L       

  2=10=1 ljljw       

  2=10=1=1 hnkfg tyf cltly ;Tsf/ 500,000.00 557,000.00 546,510.00 

  2=10=1=2 rf*kj{ k"hf 70,000.00 70,000.00 53,018.00 

  2=10=1=3 n]vfk/LIf)f 70,000.00 70,000.00 69,150.00 

  

2=10=1=4 ;|]:tf k|)ffnL cWofjlws, k]ZsL / 

j]?h" km%\of}^ 25,000.00 25,000.00   



    hDdf 665,000.00 722,000.00 668,678.00 

  2=10=2 e}k/L cfpg]       

  2=10=2=1 cGo  150,000.00 1,098,500.00 1,098,100.00 

  

2=10=2=2 #/ lgdf{)f÷;jf/L ;f= vl/b 

;fk^L 300,000.00 300,000.00 300,000.00 

  2=10=2=3 /fli^«o lbj;x? 20,000.00 30,000.00 30,000.00 

    hDdf 470,000.00 1,428,500.00 1,428,100.00 

10 2=11 vKg] dfn ;fdfg  550,000.00 350,000.00 339,181.00 

11 2=12 tflnd, of]hgf tyf ah]^ th"{df       

  2=12=1 tflnd uf]i&L ;]ldgf/ 200,000.00 30,000.00 25,764.00 

  2=12=2 gu/kl/ifb\ ;+rfng 100,000.00 100,000.00 97,390.00 

  2=12=3 j*f Joj:yfkg vr{ 100,000.00 100,000.00 83,005.00 

    hDdf 400,000.00 230,000.00 206,159.00 

12 

2=13 cg"bfg, cfly{s ;xfotf, rGbf 

k"/:sf/       

  2=13=1 cg"bfg, cfly{s ;xfotf, rGbf       

  2=13=1=1 c;xfo bLg b"MvL 30,000.00 30,000.00 19,651.00 

  2=13=1=2 ljljw 5,000.00 5,000.00   

    hDdf 35,000.00 35,000.00 19,651.00 

  2=13=2 ;b:otf z"Ns 50,000.00 50,000.00 15,000.00 

  2=13=3 k"/:sf/ ;Ddfg 50,000.00 50,000.00 14,000.00 

13 2=14 hUuf v/Lb       

14 2=15 ejg lgdf{)f tyf v/Lb       

15 2=16 cGo lgdf{)f tyf ;"wf/ vr{ 73,724,051.60 85,141,001.60 78,931,159.79 

16 2=17 pTkfbg ;fdu|L÷;]jf       

17 2=18 nufgL       

  2=18=1 C)f nufgL       

  2=18=2 z]o/ nufgL       

    hDdf       

18 2=19 cfo tyf cfGtl/s ;fk^L lkmtf{ 80,000.00 92,500.00 92,411.92 

19 2=20 ;f¤jf tyf Jofh e'QmfgL       

20 2=21 sd{rf/L sNof)f vr{ 1,150,000.00 1,150,000.00 1,150,000.00 

    s'n k|zf;lgs vr{ 25,085,000.00 25,085,000.00 23,927,799.12 

    s'n ljsf; vr{ 73,724,051.60 85,141,001.60 78,931,159.79 

    hDdf vr{ 98,809,051.60 110,226,001.60 102,858,958.91 



-u_ ljsf; vr{ -k'+hLut_ 
l;=g+ of]hgfsf] gfd j*f cg'dflgt oyfy{ 

s_ gu/kflnsf cg'bfg sfo{qmd / cfGtl/s >f]ttkm{sf of]hgfx?       

1_ ;dk'/ssf of]hgfx?       

1=1 k;n sjn ejg   779,826.79 779,826.79 

1=2 
;fgf zx/L vfg]kfgL cfof]hgf cGtu{t ;/;kmfO{ sfo{qmd -:nh *«Oé j]*, ;/;kmfO{ pks/)f, zf}rfno 

lgdf{)F_ 

  

2,796,038.21 0.00 

1=3 a;kfs{ lgdf{)F   1,163,260.00 1,163,260.00 

1=4 bdsn vl/b   601,849.00 601,849.00 

1=5 ;/;kmfO{ sfnf]kq]   702,129.00 702,129.00 

1=6 ;*s af]*{ tkm{sf of]hgf   813,318.00 813,318.00 

1=7 Jofsx' nf]*/ vl/b   812,000.00 812,000.00 

  hDdf   7,668,421.00 4,872,382.79 

2_ nlIft ju{sf of]hgfx?       

s_ dlxnf       

1=2=1=1 df]xf]l/of^f/ ^f]n cGtu{t cfbz{ ;dfh -dlxnf_ sf] cw'/f] ejg lgdf{)f 1 30,000.00 30,000.00 

1=2=1=2 hgr]tgf ^f]ndf cw'/f] vfg]kfgL of]hgf k'/f ug'{kg]{  1 50,000.00 50,000.00 

1=2=1=3 gjcfbz{ ^f]ndf cjl:yt vfg]kfgL of]hgf 1 40,000.00 40,000.00 

1=2=1=4 gjhfu/)f ^f]n cGtu{t gfu s'jf dd{t u/L Jojl:yt 2 30,000.00 30,000.00 

1=2=1=5 s'dfn^f/L ^f]nsf] emDs]nL vf=kf= OG^]s lgdf{)f / lnkm\̂ af^ vf=kf= ljt/)f 5 35,000.00 35,000.00 

1=2=1=7 vx/]vf]nf sG^f/ vfg]kfgL of]hgf dd{t 8 25,000.00 25,000.00 

1=2=1=8 wf/fkfgL vfg]kfgL of]hgf dd{t u/L kfOk v/Lb 9 85,000.00 85,000.00 

1=2=1=9 cw]+/L eGHofé ^f]ndf /x]sf] kGw|d'/] vfg]kfgL / :jfdLwf/f s'jf dd{t 9 45,000.00 45,000.00 

1=2=1=10 jn]wf/f vfg]kfgL dd{t ;Def/ 10 25,000.00 25,000.00 

1=2=1=11 dlxnf l;k ljsf;, g]t[Tj ljsf;, n#' pBd tyf cfo cfh{g sfo{qmd   115,200.00 115,200.00 

1=2=1=12 u[lx)fL lzIff sfo{qmd ;+rfng 10 30,000.00 30,000.00 

1=2=1=13 u[lx)fL lzIff sfo{qmd ;+rfng 11 26,000.00 26,000.00 

1=2=1=14 dlxnf ;zlSts/)f sfo{qmd   48,950.00 48,950.00 



1=2=1=15 ;fd'bflos dWo:y sfo{qmd   46,200.00 46,200.00 

1=2=1=16 h]g]/]^/ dfkm{t kfgL tfgL l;tnu'kmf vfg]kfgL of]hgf ;+rfng 5 390,000.00 390,000.00 

1=2=1=17 l;Gw' cfdf ;d'xsf] ejg k'/f ug'{kg]{ 8 260,000.00 260,000.00 

1=2=1=18 /fDr] vfg]kfgL dd{t 9 260,000.00 260,000.00 

  hDdf   1,541,350.00 1,541,350.00 

v_ afnaflnsf        

1=2=2=1 afndlGb/ lg=df=lj=df afnd}qL sIff sf]&f lgdf{)f 2 70,000.00 70,000.00 

1=2=2=2 ;TojtL pRr df=lj=sf] v]n d}bfg Joj:yfkg ug'{kg]{ 2 40,000.00 40,000.00 

1=2=2=3 hg;]jf k|f=lj=df ;'/Iff uf*{ cfjf; ejg lgdf{)f 2 60,000.00 60,000.00 

1=2=2=4 a;Gt lg=df=lj= sf] em\ofndf lu|n / /+u /f]ug ug'{kg]{ 3 50,000.00 50,000.00 

1=2=2=5 tgx'+ k|f=lj= %fgf lgdf{)f 4 25,000.00 25,000.00 

1=2=2=6 j]bJof; k|f=lj= v]nd}bfg ;Dofpg'kg]{ 11 45,000.00 45,000.00 

1=2=2=7 ;j{Hof]tL df=lj= df vfg]kfgL of]hgf ;+rfng 5 35,000.00 35,000.00 

1=2=2=8 afn ljsf; hfg] l;+(L af^f] lgdf{)f 7 64,047.00 64,047.00 

1=2=2=9 hgsNof)f k|f=lj=sf] cw'/f] ejg lgdf{)f sfo{ ;DkGg ug'{kg]{ 3 448,231.00 448,231.00 

1=2=2=10 hgtf k|f=lj= cw'/f] ejg lgdf{)F 9 455,000.00 455,000.00 

1=2=2=11 dbzf{ k|f=lj= ejg lgdf{)f Pj+ sDkfp)*jfn lgdf{)f 11 394,789.00 394,789.00 

  hDdf   1,687,067.00 1,687,067.00 

u_ blnt, hghflt, ckfétf, Ho]i& gful/s / cGo       

1=2=3=1 /ftfdf^f ^f]n cGtu{t ;fd'bflos cw'/f] ejg lgdf{)f  4 25,000.00 25,000.00 

1=2=3=2 cGh'dg ejg lgdf{)f sfo{ k'/f ug'{kg]{ 11 35,000.00 35,000.00 

1=2=3=3 b/}kw]+/f ^f]n cGtu{t g/]wf/f dd{t 3 25,000.00 25,000.00 

1=2=3=4 gof+j:tL vfg]kfgL of]hgf ;+rfng 5 35,000.00 35,000.00 

1=2=3=5 cn}+r] ^+sL lgdf{)f u/L wf/f lj:tf/ 7 100,000.00 100,000.00 

1=2=3=6 (f]*]gL vfg]kfgL of]hgf ;+rfng 7 130,000.00 130,000.00 

1=2=3=7 l;/bL ^f]n cGtu{t kvn] vf]N;Ldf gof+ vfg]kfgL of]hgf 8 25,000.00 25,000.00 

1=2=3=8 k'nrf]s vfg]kfgL of]hgf cw'/f] sfo{ k'/f ug'{kg]{ 10 50,000.00 50,000.00 

1=2=3=9 u'?é hfltsf] bfx;:sf/ ug]{ l;tn dfu{ lrxfg*f+*f hfg] l;+(L af^f] lgdf{)F 3 25,000.00 25,000.00 



1=2=3=10 sf]sn*f+*f kf]v/Laf^ klZrdtkm{ sNe^{ x'+b} /fgLufp+ eu]/yfg hfg] af^f] adaxfb'/ tfdfésf] af/L x'+b} 

sNe {̂ hf]*\g'kg]{ Pj+ 1 yfg 45 Pd=Pd= sf] x\o'dkfOk ;d]t 

3 

40,000.00 40,000.00 

1=2=3=11 
e/\of+ªbL ^f]n cGtu{t rGb|/fhsf] #/b]lv led/fhsf] #/af^ hf]*/ lgj'{ hfg] af^f] lgdf{)f 

3 

30,000.00 30,000.00 

1=2=3=12 b/}ufp+ ^f]n cGtu{t b/}ufp+ r)*Lrf]s df]^/ dfu{ u|fe]n / gfnf lj:tf/  4 25,000.00 25,000.00 

1=2=3=13 ;]j/ b/}ufp+ ^f]n cGtu{tsf af^f]x?df u|fe]n 5 30,000.00 30,000.00 

1=2=3=14 ;f+u] b/}b]lv l;Gw' dfu{ hfg] leqL af^f] -u)F]z dfu{_u|fe]n 8 35,000.00 35,000.00 

1=2=3=15 e'=k'=^f]n cGtu{t wgaxfb'/ >]i&sf] #/b]lv vf]nf emg]{ l;+(L af^f] lgdf{)f 8 40,000.00 40,000.00 

1=2=3=16 sfp/fsf] km]b sNe {̂b]lv lrqaxfb'/ b/}sf] #/tkm{sf] af^f] lgdf{)f 8 25,000.00 25,000.00 

1=2=3=17 efn'vf]nf ef^]y'Dsf x'+b} vx/] r)*L dfu{ lgdf{)f Pj+ dd{t 9 60,000.00 60,000.00 

1=2=3=18 b'D;Lsf]^ lj=lk=eGHofé hf]*\g] df]^/ af^f] lgdf{)f sfo{ k'/f 9 50,000.00 50,000.00 

1=2=3=19 d+unLu}/f ^f]n cGtu{t sfnL/xdf sNe^{ lgdf{)F 5 25,000.00 25,000.00 

1=2=3=20 blnt pTyfg sfo{qmd   3,000.00 3,000.00 

1=2=3=21 ckfétf÷Ho]i& gful/s pTyfg sfo{qmd   78,000.00 78,000.00 

1=2=3=22 cflbjf;L hghflt÷cNk;+Vos pTyfg sfo{qmd   90,000.00 90,000.00 

1=2=3=23 lzjfno ^f]n cGtu{t lzjfno dlGb/ dd{t 8 25,000.00 25,000.00 

1=2=3=24 k/fz/ If]q j[$f>d lgdf{)f  7 50,000.00 50,000.00 

1=2=3=25 dfOnL*f+*f blnt j:tLdf l;+(L af^f] lgdf{)F 1 70,000.00 70,000.00 

1=2=3=26 b/} k+w]/fsf] kfgL lnkm\̂ af^ tfgL cw'/f] vfg]kfgL of]hgf 3 390,000.00 390,000.00 

1=2=3=27 l*xLufp+ b/} ;+u|fno ejg lgdf{)f 5 260,000.00 260,000.00 

1=2=3=28 ;]/f ^f]ndf s'dfn ;dfhsf] ejg lgdf{)f 6 390,000.00 390,000.00 

1=2=3=29 j]t]gL ^f]n ljsf; ;+:yf cGtu{tsf] df]^/ af^f] lj:tf/ 7 195,000.00 195,000.00 

  hDdf   2,361,000.00 2,361,000.00 

3_ cfly{s tyf ;fdflhs k"jf{wf/ ljsf; -60 k|ltzt ah]^af^_       

1=3=1 g]kfn^f/, (fky'DsL, If]qLufp+, eu]+/L x'+b} dfx]Gb|L dfu{ hf]*\g] l/é/f]* lgdf{)F 6 300,000.00 300,000.00 

1=3=2 
lgd{n gu/ nufot cGo ^f]ndf j*F:t/Lo vfg]kfgL kfOk -50 Pd=Pd=_ vl/b u/L pknAw u/fpg] 

1 

348,422.00 348,422.00 

1=3=3 j*f sfof{no ejg lgdf{)f sfo{ ;DkGg ug'{kg]{ 4 550,000.00 550,000.00 



1=3=4 
hgh'Qm zfxL pRr df=lj=af^ kl)*t s'gf (fs|] eGHofé ofDbL rfkf^f/ x'+b} dfx]Gb|L dfu{ hf]*\g] df]^/ 

af^f] lgdf{)f 

6 

250,000.00 250,000.00 

1=3=5 
j]gLkf^g ^f]nsf] wf/f vf]N;L / cf;fs'/L vf]nfdf ^+sL lgdf{)f / kfOknfOg lj:tf/ 

7 

200,000.00 200,000.00 

1=3=6 dxlif{ ^f]n cGtu{tsf] kfgLsf] kmf]xf]/f dd{t ;Def/ / ;+rfng 10 450,000.00 450,000.00 

1=3=7 ;Dk")f{ j*Fx?df u|Fe]n ug]{ sfo{   408,250.00 408,250.00 

1=3=8 ;/;kmfO{ Joj:yfkg -sd{rf/L ;d]t_   3,137,637.00 3,137,637.00 

  hDdf   5,644,309.00 5,644,309.00 

4_ k|j{$gfTds sfo{qmd -40 k|ltzt ah]^af^_       

1=4=1 a;Gt ^f]n cGtu{t *'dL{kf^f] vfg]kfgL of]hgf 3 35,000.00 35,000.00 

1=4=2 afu]rf}/ ^f]n cGtu{t vl/kfgL / ('+u]kfgL kw]+/f] lgdf{)f 3 25,000.00 25,000.00 

1=4=3 af^f] lj:tf/ Pj+ u|fe]n ug'{kg]{ 1 180,000.00 180,000.00 

1=4=4 pQ/zLnf ^f]n cGtu{t lu|gkfs{ xf]^nb]lv a'NbLvf]nf;Dd u|fe]n 2 40,000.00 40,000.00 

1=4=5 k'Nrf]s ^f]n cGtu{t #§ kw]+/f ;/;kmfO{ / af^f] dd{t 2 25,000.00 25,000.00 

1=4=6 cd/fk'/L ^f]n cGtu{t afndlGb/af^ cd/fk'/L emg]{ cw'/f] l;+(L af^f] 2 35,000.00 35,000.00 

1=4=7 lgj'{ rf}tf/fb]lv pQ/tkm{ hfg] lgj'{ /fdbf;sf] cw'/f] af^f] ;DkGg 3 25,000.00 25,000.00 

1=4=8 lgj'{ ^f]nsf] e)*f/L vf]nfaf^ nf+s'/L eGHofé af^f] vf]Ng] 3 45,000.00 45,000.00 

1=4=9 d'nkfgL ^f]nsf] ;f?u}/f vf]N;faf^ rd]/] u'kmf hfg] af^f] dd{t 4 25,000.00 25,000.00 

1=4=10 km/fsrf}/ ^f]n cGtu{t af/fxLdfu{ u|fe]n tyf gfnf lgdf{)f 4 25,000.00 25,000.00 

1=4=11 hfd'g] ^f]n cGtu{t j]n^f/L hfd'g] df]^/ dfu{ lgdf{)f / kSsL gfnf 4 25,000.00 25,000.00 

1=4=12 *f*f+ufp+ ^f]n cGtu{t k*\s]kfgL af]/y'Dsf ;Dd u|fe]n / gfnf lgdf{)f 4 25,000.00 25,000.00 

1=4=13 
zflGtgu/ kf]v/L rf]saf^ k|sfzrGb| aufn]sf] #/;Ddsf] ;*s rf}*f Pj+ gfnf lgdf{)f 

5 

25,000.00 25,000.00 

1=4=14 zflGtgu/af^ v]d/fh Gof}kfg]sf] #/;Ddsf] af^f]df x\o'dkfOk / gfnf lgdf{)f 5 25,000.00 25,000.00 

1=4=15 wldnLs'jfaf^ j]N^f/L x'+b} dfbL hfg] af^f] lgdf{)F 5 35,000.00 35,000.00 

1=4=16 dfbLk'nb]lv j}/]gL hf]*\g] df]^/ af^f] :t/f]GtL ug'{kg]{ 5 30,000.00 30,000.00 

1=4=17 l;tnu'kmf ^f]n cGtu{t e'jfg] dfu{df u|fe]n Pj+ x\o'dkfOksf] Joj:yf 5 25,000.00 25,000.00 

1=4=18 b]p/fnLgu/af^ Jof; u'kmf hfg] af^f] dd{t u/L u|fe]n 10 40,000.00 40,000.00 



1=4=19 b'D;Lsf]^ / sfnL*f+*f df]^/ dfu{ lj:tf/ u/L u|fe]n 9 60,000.00 60,000.00 

1=4=20 a'$kfs{ vfg]kfgL of]hgf dd{t u/L ;jbfx:yn hfg] af^f] lj:tf/ / u|Fe]n 10 60,000.00 60,000.00 

1=4=21 ef]n]{^f/rf]sb]lv afuahf/ ^f]n;Dd u|fe]n 11 49,000.00 49,000.00 

1=4=22 lemNs] dfu{b]lv rgf}^L;Dd af^f] lj:tf/ 11 30,000.00 30,000.00 

1=4=23 >Ls[i)f ^f]ndf af^f] lk=l;=l;= 11 35,000.00 35,000.00 

1=4=24 lj/tf ^f]n cGtu{tsf sRrL af^f] u|fe]n  11 40,000.00 40,000.00 

1=4=25 !fgdfu{ lk=l;=l;= 11 40,000.00 40,000.00 

1=4=26 
j]n^f/L ^f]n cGtu{t j]n^f/L l;dnsf] ?vaf^ rfk]vf]nf sNe{^;Dd zfvf af^f] vf]Ng] 

4 

25,000.00 25,000.00 

1=4=27 ;kmf ;*sb]]lv ;[hgf dfu{;Dd10 km'^] af^f]sf] gfnf lgdf{)f 10 35,000.00 35,000.00 

1=4=28 ;'Gwf/f ^f]n rl)*sf lg=df=lj= cufl*sf] rl)*sf dfu{ dd{t 4 25,000.00 25,000.00 

1=4=29 y'Ds]nL ufp+ ^f]n cfxfn] #'dfpg] hL)f{ af+w s'nf] lgdf{)F 4 25,000.00 25,000.00 

1=4=30 km]bLkmf+^ ^f]n cGtu{t km]bLvf]nf kfgLsf] d'xfg tf/ hfnL nufO{ ;+/If)f 4 25,000.00 25,000.00 

1=4=31 rfkf#f^ ^f]n cGtu{t k[YjL /fhdfu{sf] bfof+afof+ j[Iff/f]k)f / tf/jf/ 8 40,000.00 40,000.00 

1=4=32 
l;h{gfrf]sdf /x]sf] as}gfsf] ?v rf}tf/f lgdf{)f ug'{kg]{ / dxlif{ rf]sdf /x]sf] kfgLsf] kmf]xf]/fsf] 

bfof+afof+sf] vfnL efu ;/;kmfO{ / lkr 

10 

60,000.00 60,000.00 

1=4=33 k'/gl*xL ^f]n cGtu{t sflnsf dlGb/ dd{t / kf^L lgdf{)f 4 25,000.00 25,000.00 

1=4=34 kt]gL^f/ ^f]n cGtu{t lzjfno dlGb/sf] kvf{n dd{t 8 50,000.00 50,000.00 

1=4=35 Od]n OG^/g]^ ;+rfng   91,623.00 91,623.00 

1=4=36 k'nsf] d'vb]lv lj;#/] hf]*\g] af^f] u|]l*é u/L af^f] lj:tf/ 2 100,000.00 100,000.00 

1=4=37 a|dZo vf]N;Ldf sNe^{ ;lxt af^f] lgdf{)f 1 115,000.00 115,000.00 

1=4=38 Go'/f]* ^f]nsf] 10 km'^] af^f] lk=l;=l;= / gfnf lgdf{)f 2 100,000.00 100,000.00 

1=4=39 ljljw km'^s/ of]hgf   570,000.00 570,000.00 

  hDdf   2,290,623.00 2,290,623.00 

  s'n hDdf   21,192,770.00 18,396,731.79 

v_ :yfgLo ljsf; z'Ns sf]if tkm{sf of]hgfx?       

2=1 sfof{no ejg dd{t   289,740.00 289,740.00 

2=3 ljB't -;*s aQL dd{t / gof+ h*fg ;d]t_   645,757.00 645,757.00 

2=4 gfnf tyf (n ;kmfO{   285,980.00 285,980.00 



2=5 hgr]tgfd'ns sfo{qmd   48,460.00 48,460.00 

2=6 b}lgs ;/;kmfO{ OGwg Joj:yfkg   495,419.00 495,419.00 

2=7 ;jf/L ;fwg dd{t tyf cGo dd{t Pj+ d'Vo oGq kl/jt{g   288,623.00 288,623.00 

2=9 df;' ahf/ Joj:yfkg   326,782.00 326,782.00 

2=11 k||sf]k Joj:yfkg÷hgr]tgf, /fxt ljt/)F Pj+ NBC sfof{Gjog   196,269.00 196,269.00 

2=12 Nof)*lkmn ;fO^ klxrfg÷Joj:yfkg   142,210.00 142,210.00 

2=14 afn d}qL sfo{qmd   25,000.00 25,000.00 

2=15 dlxnf :jf:Yo ;DaGwL cGo sfo{qmd   193,200.00 193,200.00 

2=16 cfd ;+rf/ IF]q k|jw{g sfo{qmd -lhNnfl:yt kqsf/ %ftf ;+u&g dfkm{t_   255,130.00 255,130.00 

2=17 ;"rgf Joj:yfkg ÷ j*f k|f]kmfOn tof/   288,200.00 288,200.00 

2=18 a|';]^ tyf :dfl/sf k|sfzg   72,489.00 72,489.00 

2=19 v]ns'b tyf o'jf ljsf; sfo{qmd   267,421.00 267,421.00 

2=20 ;+# ;+:yf Ifdtf ljsf; Pj+ :t/f]GgtL   143,500.00 143,500.00 

2=21 ;jbfx #f^ Joj:yfkg 10 13,680.00 13,680.00 

2=22 g=kf=sd{rf/L÷k|ltlglw÷^f]n ljsf;sf] Ifdtf ljsf;   40,000.00 40,000.00 

2=23 cWoog cjnf]sg e|d)f   290,335.00 290,335.00 

2=24 /fhZj ;'b[(Ls/)f Pj+ Joj:yfkg   136,463.00 136,463.00 

2=25 cflbslj efg'eQm ax'd'vL SofDk; So'=P=O{=sfof{Gjog lj!fg k|of]uzfnf ;d]t 1 300,000.00 300,000.00 

2=26 a/rf}/ cw'/f] vfg]kfgL lgdf{)F 8 200,000.00 200,000.00 

2=27 Jof; 10 sf] u'Dafdf gfnf lgdf{)F 10 195,000.00 195,000.00 

2=28 kf]Noféb]lv u'Daf hfg] af^f] lgdf{)F 3 75,000.00 75,000.00 

2=29 a}/]gL cw'/f] vfg]kfgL of]hgf lgdf{)F 5 260,000.00 260,000.00 

2=30 Jof; 1 cw'/f] b/} ;+u|fno ejg 1 100,000.00 100,000.00 

2=31 uNj'j]zL k]^«f]n kDk k%fl* e"Ifo lgoGq)F 1 75,000.00 75,000.00 

2=32 d+unLu}/f b'D;L cw'/f] af^f] lgdf{)F 5 75,000.00 75,000.00 

2=33 b'D;L b/}ufp+ gfnf lgdf{)F 5 100,000.00 100,000.00 

2=34 ljljw km'^s/ of]hgf   1,061,990.00 1,061,990.00 

  hDdf   6,886,648.00 6,886,648.00 



u_ /lhi^«]zg z'Ns cGtu{tsf of]hgfx?       

3=1 ljljw k/fdz{ vr{   571,509.00 571,509.00 

3=2 s[lif ;DaGwL u'? of]hgf sfof{Gjog   300,000.00 100,000.00 

3=3 ;fj{hlgs lghL ;fem]bf/L sfo{qmd   50,000.00   

3=4 ul/jL lgjf/)f ;fem]bf/L sf]if lkmtf{   1,200,000.00 1,200,000.00 

3=5 s|dfut of]hgf sfof{Gjog 1 736,000.00   

3=6 zflGtgu/ ;/;kmfO{ sfnf]kq] of]hgf s|dfut 10 1,288,000.00 1,287,583.00 

3=7 ljljw km'^s/ of]hgf   989,803.60 989,784.00 

  hDdf   5,135,312.60 4,148,876.00 

#_ cGo cg'bfg cGtu{tsf of]hgfx?       

4=1 hu]*F sf]if sfo{{qmd       

4=1=1 se/ :Nofj ;lxt gfnf lgdf{)F 1 5,000,000.00 4,999,862.00 

4=1=2 ;*s sfnf]kq]  1,2,10,11 10,297,264.00 10,297,264.00 

4=1=3 se/ :Nofj ;lxt gfnf lgdf{)F 2, 11 3,200,000.00 3,170,827.00 

4=1=4 bdsn vl/b   5,585,000.00 5,407,000.00 

4=1=5 a;kfs{ u'? of]hgf sfof{Gjog t];|f] r/)f 1, 2 3,500,000.00 2,711,000.00 

4=1=6 Jofsx' nf]*/ vl/b   3,248,000.00 3,248,000.00 

  hDdf   30,830,264.00 29,833,953.00 

4=2 ;*s af]*{ sfo{qmd 2,10,11,3 5,482,500.00 4,679,794.00 

4=3 lh=lj=;=tkm{sf sfo{qmdx? -%gf}^ eO{ cfPcg';f/ x'g]_ s_ k'+hLut cg'bfg   100,000.00 12,000.00 

4=4 dd{t ;Def/ cGtu{tsf cfof]hgf vr{   300,000.00 10,000.00 

4=5 zx/L :jf:Yo s]Gb| ;+rfng 9 605,000.00 529,050.00 

4=6 ;fdflhs ;'/Iff ;DaGwL   12,100,000.00 11,925,600.00 

4=8 :yfgLo oftfoft k"jf{wf/ sfo{qmd -dfg'ªsf]^ ko{^sLo dfu{ lj:tf/_ 7 2,508,507.00 2,508,507.00 

  hDdf   51,926,271.00 49,498,904.00 

  s'n hDdf ljsf; vr{   85,141,001.60 78,931,159.79 

 


